A

GombiSteel
\—/

Spare part information

7539.0015

7

V 4




e~

GombiSteel
\/

7539.0015

www.combisteel.com




7539.0015

e
GombiSteel
v

www.combisteel.com



—

CombiSteel Spare part list 7539.0015
g

POS: Art.No.: Omschrijving: Aantal:
1 *%k Griddle Plate Assembly 1
2 *% Inside Panel 2
3 &% Inside Panel Of Front 1
4 **% Main Body Assembly 1
5 & Flue Cover 1
6 CS9338.8718 Oil Box 1
7 Cs9338.8716 Gas Cock Knob 2
8 CS9338.8704 |Piézo Igniter 2
9 ** Nut M12 2
10 CS9338.8720 |Leg support 4
M €s9338.8710 |Valve 2
12 % Valve-Lock Clasp 2
13 % Screw M5x25 2
14 *% Injector Bushing 2
15a CsS9338.8700 |Jet natural gas 1,3 2
15b CS9338.8702 |Jet propane gas 0,9 2
16 CS9338.8706 |Thermocouple 2
17 CsS9338.8708 |Spark Electrode 2
18 €s9338.8712 Burner Assembly 2
19 *% Inlet Pipe 1
20 L Burner Underprop 1
21 ** Screw M6x20 2
22 *% Nut M6 2
23 *% Sealant 2

## = Parts cannot be ordered separately.

** = No article number known, must be requested specifically.

www.combisteel.com




e~

GombiSteel 7539.0015
\—/

Notities / Notes / Anmerkungen / Remarques

www.combisteel.com




P o N

GombiSteel
\-/

7539.0015

Combisteel BV

Lichtschip 63
3991CP Houten
The Netherlands

+31(0)30 285 00 90
info@combisteel.com
www.combisteel.com



